MONDAY week 4

Name
1. Name the property represented by the equation.
7+0=7 5. The puppet master has these four
puppets. What is the probability of his
using one of the two Durososonos¢
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3. Round the number to the nearest ten thousand.
168,932 - o i G
4. Solve the equation. i
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5. A basic set of Wayang Kulit puppets
includes over 100 puppets. Important
characters will have several different
versions in the set. It 20 percent of @
set represents the same characters in
different versions or poses, how many
different characters are in a set®

O The figures are similar.

O The figures are congruent.

2 Choose the correct answer. 33.7 x 4 = ?
O 13.48 O 134.8 O 13.38

3. Which unit would be the best choice for measuring
the area of a puppet stage.

O pounds O square feet O square inches

4. Ashawn will cut the wooden puppet rods. He needs
eight rods. Four of the rods will be two teet long, two
will be 18 inches, and two will be one toot long. How
many feet of doweling should Ashawn buy?
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1. Write a short definition of probability.

5. Choose the two figures
that are similar.

2. The details of the Wayang Kulit puppet are
ounched with a wooden mallet and sets of metql

ounches. It the puppet maker can make 100
punches in fen minutes and the puppet requires
8,000 punches, can he complete the punching

in one hour? (Use mental math first than check
your answer.}

3. Starting at the tourth step, the puppet moved . . :
down three steps and then up eight steps. | : PRI I
What step is the puppet on now? . T

Y. -Wirite three numbers that are betweer

-—

and -6. Arenttettese numbers integers?
Stain. '
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9.5 9 _5 9 .5 | :
O 2 776 O 2 6 O 3<% 5. Which measurement

is most reasonable?
2. Which equation is an example of the commutative

i a. weight of puppeteer 900 pounds
property or multiplications = b. weight of a vase 2 tons
Ocxb=bxc c. weight of a nut 3 ounces
Oclb+c)=cbh+cc
Oc+0=c |
Oc+b=b+c ; o o z
3—Selve_the equation.

.

2(r

oo
i o .
i 7=
X B
v X
" £
b, %
Voot
1 N
[ ’
L -
ot g
SO,
. [
Roatehy 1 -
L o
LY -
" T, - -
LY, i
i "
-
'

ey
;
R

| . - -fj 2
.‘L Solve the problem. | :
1 3 _ ' |

I




